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(Answer any six of the following questions)

The complete solution of (D*- D)y = 0 is
(8) y=A+Bx+Cx (b) y = A + Bcosx + Csinx
(c)y=A+Be"+ Ce” (d) y = Ax + Be™ + Ce”

The roots of (D*+2)y are

() +2 (b) +2i (c) +iV2 (d) V2

If # = xT + yj + zk , the value of Vr is

? r 1 1
@ — (b) = (c) - (d) =
r . r .
By stokes theorem, J'? dr =
@ = (b) 1 ()0 (d ) None of these

The derivative of f(z) at z, is

(@)1 (b) f(z) (©) f(20) (d) f'(20)



6. The bilinear transformation that maps the points oo, i,0 onto 0, i, o is
@) —é (b) —% (©) % (d) None of these

7. Which of the following is not an analytic function?

(a) sinz (b) z (c) sinhz d) z
8. Conformal mapping is a mapping which preserves angle
(a) in magnitude (b) in sense
(c) both in magnitude and sense (d) Eithen in magnitude or in sense
1
9. L* =
L,Z +a’ }
(a) Shat (b) SMat (¢) sinhat (d) sinat
a
10. Laplace transforms is an transform.
(a) Discrete (b) Discrete time
(c) Data independent (d) Integral
PART — B (3 x 8= 24 Marks)
(Answer any three of the following questions)
11. Solve (D% — 4D + 3)y = sin3x cos2x. (8)
12. Verify Gauss divergence theorem for F = 4xzi — y2 7 + yzk taken over the cube
bounded by the planesx=0,x=1y=0,y=1,z=0,z =1. (8)
13. Find the bilinear mapping which maps the points Z = 0, —1,1 of the Z-plane onto
W = 1,0, of the W-plane. (8)
. w1+ 2cos@ . . .
14, Find the value of fo Tvacoss d6 using contour integration. (8)
15. Find the Laplace transform of a periodic function
_(t 0<t<1 _
fO={, , 1<icy,adf®=F+2). ®)
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